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Act II - Twelve Angry Men 
 
Directions: Answer the questions in complete sentences. 
 

1. At the beginning of Act II, which juror changed his vote and why? 
A. Juror Five because he can relate to the defendant. 
B. Juror Ten because of the knife. 
C. Juror Nine because he wanted to support Eight and talk more. 
D. Juror Seven because he wants to hurry up and go home. 
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2. According to the testimony of the old man who lived below the defendant, he 
heard the defendant shout, “I’m going to kill you!”  Why does Juror Eight 
question the truth of his testimony? Use details from the play to support your 
response. 

 
____________________________________________________________ 
 
____________________________________________________________ 
 
____________________________________________________________ 
 
____________________________________________________________ 
 

3. Why does Juror Nine think the old man might have lied in his testimony? 
A. He is the real killer and doesn’t want to get caught. 
B. He hates the boy and wants to see him go to jail. 
C. He enjoys the attention and the feeling of being important. 
D. None of the above. 
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4. Several times during Act II, Juror Three makes childish and irresponsible 
remarks. What are some of those remarks? 

 
 
 
 

 
 
 
 

 
 
 
 

 
5. At the end of Act II, Juror Three shouts at Juror Eight, “I’ll kill him! I’ll kill him!” 

Why is this statement so important at this point in the play? Use details from the 
play to support your response. 

 
____________________________________________________________ 
 
____________________________________________________________ 
 
____________________________________________________________ 
 
____________________________________________________________ 
 
____________________________________________________________  


